Analysis updates

Calibration (SHMS), HGC
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Run Numbers:

7882
7883
7884

Run Numbers:

4865
4866
4867

March 22, 2019 (Part - 4)
E _beam =6.19 GeV

P_shms = 3.48 GeV/c

September 21, 2018 (Part - 1)
E _beam = 10.6 GeV

P_shms = 3.48 GeV/c
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Counts

Full timing information for events
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ADC TDG Diff PMT1
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Pulse Integral PMT1 quad2
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Pulse Integral PMT1 quadd
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Scaled ADC spectra for PMT1
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Linear Spacing of PE for PMT1
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7882, 7883, 7884

4865, 4866, 4867

Calibration Parameters

Online calibration constants: Garth H. gain calibration from 4721, Sept 27 2018

PMT No.

05/27/20

First Guess

6.112
6.600

6.750
7.474

5.603
5.957

7.052
6.931

0.029
0.014

0.067
0.047

0.039
0.021

0.113
0.0/8

Second Guess

6.075 +/-
6.698 +/-

6.700 +/-
7.418 +/-

5.446 +/-
6.039 +/-

6.962 +/-
6.996 +/-
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0.042
0.024

0.088
0.056

0.046
0.025

0.117
0.083

Online Parameters

6.26

7.30

5.85

6.98



Outlook

* The next task is to check the consistency of the calibration. | have to run
the calibration code for other sets of runs and make plot between run
numbers and calibration constants.

* From the consistency plot, we will decide which guess is more suitable
for use.

* Once we are happy with the calibration constants then | will update them
for the hcana.
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